
Learning goal: Students will be able to understand the language
connecting with the concepts of ratio.

Part-to-Part Ratio

Score:Grade:Name:

Worksheet #4

There are 90 watches and 75 clocks.
 What is the ratio of:
Watches : Clocks = ___:___
Clocks : Watches = ___:___

There are 100 pumpkins and 85
carrots.
 What is the ratio of:
Pumpkins : Carrots = ___:___
Carrots : Pumpkins = ___:___

There are 110 mobile phones and 90
tablets.
 What is the ratio of:
Mobile phones : Tablets = ___:___
Tablets : Mobile phones = ___:___

There are 130 bracelets and 100
earrings.
 What is the ratio of:
Bracelets : Earrings = ___:___
Earrings : Bracelets = ___:___

There are 140 bicycles and 115
skateboards.
 What is the ratio of:
Bicycles : Skateboards = ___:___
Skateboards : Bicycles = ___:___

There are 150 students and 120
teachers.
 What is the ratio of:
Students : Teachers = ___:___
Teachers : Students = ___:___

There are 160 planets and 130 stars
in the galaxy illustration.
 What is the ratio of:
Planets : Stars = ___:___
Stars : Planets = ___:___

There are 9 blue kites and 5 red
kites.
 What is the ratio of:
Blue kites : Red kites = ___:___
Red kites : Blue kites = ___:___

There are 11 tigers and 7 lions in the
zoo.
 What is the ratio of:
Tigers : Lions = ___:___
Lions : Tigers = ___:___

There are 95 stars and 80 moons in
the decoration.
 What is the ratio of:
Stars : Moons = ___:___
Moons : Stars = ___:___
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Learning goal: Students will be able to understand the language
connecting with the concepts of ratio.

Part-to-Part Ratio

Score:Grade:Name:

Worksheet #4(Answers)

There are 90 watches and 75 clocks.
 What is the ratio of:
Watches : Clocks = 90:75
Clocks : Watches = 75:90

There are 100 pumpkins and 85
carrots.
 What is the ratio of:
Pumpkins : Carrots = 100:85
Carrots : Pumpkins = 85:100

There are 110 mobile phones and 90
tablets.
 What is the ratio of:
Mobile phones : Tablets = 110:90
Tablets : Mobile phones = 90:110

There are 130 bracelets and 100
earrings.
 What is the ratio of:
Bracelets : Earrings = 130:100
Earrings : Bracelets = 100:130

There are 140 bicycles and 115
skateboards.
 What is the ratio of:
Bicycles : Skateboards = 140:115
Skateboards : Bicycles = 115:140

There are 150 students and 120
teachers.
 What is the ratio of:
Students : Teachers = 150:120
Teachers : Students = 120:150

There are 160 planets and 130 stars
in the galaxy illustration.
 What is the ratio of:
Planets : Stars = 160:130
Stars : Planets = 130:160

There are 9 blue kites and 5 red
kites.
 What is the ratio of:
Blue kites : Red kites = 9:5
Red kites : Blue kites = 5:9

There are 11 tigers and 7 lions in the
zoo.
 What is the ratio of:
Tigers : Lions = 11:7
Lions : Tigers = 7:11

There are 95 stars and 80 moons in
the decoration.
 What is the ratio of:
Stars : Moons = 95:80
Moons : Stars = 80:95
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